s

Q) (otiden de ot gran by y=16 _ 4t
x
Foad 4w fu.u Whert Fhif Cuve hos o hariasbal

4—5”,}1\‘\" ’N‘L .
Ql"u 'H‘V\__

C wrsl ws st Fhe

e+ (o,b) be a pont on lre |
dusrk hos o hersuevel ot I, Sh SEC SIS

el the longaat (v +0 y —“',7-;3-.-;(7' thravgh
(O/b) Fs wfe. = 3'1x;q — Q




7
(B For wmet salws of Hre i &

do Fhe Curves yzlxt end gz b(x-2)°
nlerseck ak right M3L<$7

fo( Lon

txl k'(x_,z') — kx
Ll -xat) =0 = X=d

L | xt-GRx T Gk

= 4
L di0 ;,Mu_ B;kx
e k (x- L)
e okl

B isis pors e (BE
sl PR Fongek et y= k2 TaEEE

2 kx s

Clape
) S N" e l,\;’l =




{\g) (‘o‘(u[a/—{ e derived, OF He - Lhee,
(W‘CH-V\ utmy de fom 7 #5en of dorvotyee

@ Flx)= _! @g/y\}:xw

T+x7

\ ol u ¥

/
IR e Elxgh) = FX ’Nm ~JTexc
@ F{X)‘: / s h :
| W

: "
',L ' l‘,]\.. '-L o "'5 O

2 xSt
W—J 74 xth)*
‘A4

= ks

h~a h1+x* J 14 (x44)*

- Sont)
(\)7#;! f’T-r(x.Hq) (U7'f17" ""\f'-*/x.ab»‘n?-/

l'\-"O 1’1\)74)(1\]7-””*1 (J7+r7—+J‘7+(x+;,)7- )
(1 xY) = ( 1+ (x+h) y
= I &

T T T T +fj.(“,,p.)

b pah- b s

—

= i)

flor i kﬂ*x:ﬂ+(x+h7b(\)1—+xl cJT+0c4n)T )‘/7-4-,(2’)3/1
7/3 3
OF ); N %(X”(h\«#(x) B ()(-Q-")) -X”—
/ l'\-)o h s 5

£
Poc sH( 1/3 /3)( * (X-M)” X +x

k-—wo n ( [x—th)l“-* (x—+“))7/;X7/3 £l

s gy
((ﬂ:h) +W+Wx/ﬂ
= b M

2/ 3 )

7 - X




.H‘“"" Ikmld Fhe fw\c,l—w‘ﬂ ﬁ(k’)' X IM(-L) be_

(LLA‘N—A ad= x=Q %o Lea & 't e fmuiv st ok
X';-Q? e L ren ch(me.bm prare 7

Solubam
(6% £/ A

‘\
!v

= | X ool } —
:le:o B i (K) T

a—

: h.c.u;x_
g,...g 5m(.k) ¥x.-+0 = - X sx f“\/_L)e_xL

/ 45 {




l¢ L dofteraideble o 07
P(x)-—F(f’}; I 'X"‘Sm(.%)_.o

| ' o
¥ ip X ~0 X 40 NG
e 1 .
= |m )n,CM(x

X =0

\Z o5 X jouf Ky o
o o ;
2%+ Mo I x A
e st e ¢ (‘})-—-O.

By Squeem phesnem, Am gy LS :




@{"‘L jm e Confovoug ab x=9 and

Consider phe Lunthiw Hk):(x-o)j(n.),

Fad ,F'[o] n larrs of j
éo(uhm

4 5 given Cafmuevs o} x=20a s d /7 F ferent abie
Al- =0 . Co, we Csanohk feke orlraie af
£ wrk X e tly, },\;J-qu/ ol USR e

de fanrissr of depiva 2.

i) W2 0 L

Wil = -
ﬁ X a4 X~9 X=q =
= v 9] = g(a)

X9 7

Q.MCL j "S w-l.,ho‘uj’
al x=20

B o )= 2, pH7=1, ata)=3 iy

e Lotle=?) .

Ay




O (0| = (rpmre £ e

i o e =l s

© < (g9t
d 2y X L(x____ X
(7)) 90x) + f 5())

(L,cm,f-‘(x?yzx)+1c"‘(x?g'(x)) -

i gt + £3(0) 90
= @) (V((3) 4 (o)t e) - 1k + Tbe 0







C bhoun "\‘lL

N
4

1 . Rﬂ' \

r— (3+ ‘9'*—1- ("'..xg
zJZK“‘JZ&J’T:.T ZJ—‘{:—- ( ;
0, ,(:'(k): | | i 3*

4 Y s e 2=

@ _3('&]: ( 1+ Sh(?ﬁ))'-'f

3 - Ux
%5.(”:‘_(14';»’\(3:) 14 3a(32)) ]
74 3 - 1x $ ~L
C,‘"u-\ vaL
i =
% _( 1+ sm(ax)) (Ebsm’x)(;’L‘)”(’z)(“""?"
) B2 ' ("__.2)()?.. e




@) @) Supprie £ 13 0 diffarabioble Luckin md
\5"’-5‘-'- e 3 iy ta 2guubiy [~ e deagnt li~e ’Lo.
e groaph of y= ~f(x) ok x=§ If 9(;():: |

Gmé N -Ql’uhHM Lor bre dongeal (e ~)-n J-.

2




f".g'*(x)z- 2 £ (0. () '/" L) 1) 3

/

chain ¢ htn rule
rale
for 0= 6 (2] £15) 21 1) = D
=
-

e e R e fo y=fix)
e y ) o el af y——._...,g‘

o, €l (8'):- Jl: ’

[ i) < 2ol ok
Fhvs, y -9(2) = 9'(2) (x-2)
B - | - il 2 ) %(g:-éxmj
3) ®, 3'(x):6/\’17[(x ) |





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

